Efficiency vs dr

x 0.02p

g b
9.018f -+
B.016f - -
TR :
®.014) -
= L
®.012f-- -
0.0
0.008-
0.006
0.004f
0.002f

obal_mKF1
V0001_R000000001__Global _mkFitNewDetf__RECO

origmal__RECO

DOM
DM _| _ | |
BSM V0001_R000000001_Global___mkFitNewDett33 RECO

fa)
L.
2 % = 000
@ —_—
o —_—
- l==

1

10

1078 1072

[ Efficiency vs dr (track,jet) |

_V0001_R000000001"_Global_mkFitNewDetNoF__RECO

1
TP min AR

§0.01
00.009
=
%).008
9.007
>
#.006
[©]
35=0.005
)
0.004
0.003
0.002
0.001

[y

107 1072

Efficiency vs pu

1
AR(TP, jét)

-1

5 0.0%, : : ;
3 N N
e S e A

e e

[0}
R S S
= : : : :

0.008F- oo R R
L T e
O SRR SRR S
YU SRR SRR S

0.002

...........

...........

...........

L

Ratio

0.0015— ------ +++++++ ;

o
w
o
o
3]
o
[
o

0.95
2




	Contents
	Page 1


